
1) Solve by factorising 
x2 + 10x + 16 = 0

Answer: ____________

2) 42 + 61

Answer: ____________

3) 'What is the probability of rolling 
factors of 7.when rolling a dice

Answer: ____________

4) Find the value of 's' by completing the 
square of the following equation: 2 + 
8s + 15

Answer: ____________

5) Factorise j2 + 8j + 12

Answer: ____________

6) Round 23.856 to the nearest 10000

Answer: ____________

7) 34/7 x 45/8

Answer: ____________

8) Factorise s2 + 8s + 12

Answer: ____________

9) Simplify 2:20

Answer: ____________

10) Find perimeter of 
triangle
a = 27 ft , b = 77 ft

Answer: ____________

11) 25.4 - 33.7

Answer: ____________

12) q19 / q20

Answer: ____________

13) Round 29.627 to the nearest whole 
number.

Answer: ____________

14) Round 6.0196 to the nearest 1000

Answer: ____________

15)
Find the next three numbers in 
the sequence
1,0,0,-1,-1,-2,-2__,__,__

Answer: ____________
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16) Find perimeter of 
rectangle having 
sides a = 44 m 
and b = 6 m

Answer: ____________

17) Find area of 
triangle s = 10 m

Answer: ____________

18) 72 - 8

Answer: ____________

19) 72 - 8

Answer: ____________

20) b

a o c
Measure angle boa 

Answer: ____________

Total: ___ / 20
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Answers:

1) x = -2 or -8 2) 103 3) 1/6 4) (s + 4)2 - 1 5) (j + 2)(j + 6) 6) 23.856 7) 1629/56

8) (s + 2)(s + 6) 9) 1 : 10 10) 181ft 11) -8.3 12) q-1 13) 30 14) 6.02

15) -3,-3,-4, 16) 100m 17) 43.301270189222m 18) 64 19) 64 20) 32
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